1. &b+ 0b2%c-b3 - a’cS QA5EfsH?

@ (a+b)a-b)(b+c) @ (a-b)(b-c)(c+a)
® (a=b)(a+b)(b-c) @ (a-b)(a+b)(c—a)

® (a-b)(b+c)(c—a)



2. E]'%%‘xz-l-y + 2xy — 2x — Qy_,]o] 7} ofd A9

O x+y @ -x-y @ x+y-2

@ x-y ® 2x+2y



3. N=069+3-692+3-69+ 12 o] eF4=2] f4=2

@D 674 @ 1270 3 2070 @ 247§ B 6470



4.

oha Al thekAf ol A Hdlgef-E F-sha?

2x2—-3x+1, 3x2-x-2, x2+3x—-4
@X—]_ @2X-1 @x_2
@ x+3 ® x+1




5.  16a* - 250ab3 2] ¢14=7} opd A9

D a @ 2a-5b
® 2a(2a - 5b) @ 4a? + 10ab + 25b>

® 2a(2a + 5b)



6. x*—23x%72 +y*S QALH) 51H?

@ (& +xy+ (6% = xy + %)
@ (x% + 22y +y%) (6% = 2xy +)?)
® (x* +3xy +y*)(x* = 3xy +y?)
@ (x4 dxy +?)(x* = dxy +?)
) )

® (x® 4+ 5xy +y?)(x® = bxy +y?



o o A %+ 3xy + 2y — x = 3y - 29 A5 AL?

O x+y+2 @ x-y+2 @ x+2y+1

@ x-2y+1 ® x+y+l



8. a(b?-c?) +b(c* - a?) + c(a® - b?) & A5ElotE?

® ~(a-b)(b-o)c-a) @ (a-b)b-c)a-c)
® —(b-a)(b-c)(c—a) @ (a-b)(b-c)(c—a)
® (a=b)(b—c)c+a)



9. ANZOE AN AL, y, 2ol ot x3 +y3 + 23 = 3xyz B WS o,
x+y+z9 #2?

D 0 ? 1 3 2 @ 3

)

4



19993 + 1

100 ———
1999 - 1998 + 1

o ghe?

@D 1997 ® 1998 3 1999 @ 2000 B 2001



11. a+b+c=4,ab+bc+ca=3,abc=1<4 W, a®+ b3+ 22 3=
Fop?

@D 30 @ 31 3 32 @ 33 B 34



12. FopdhAl 24 x—2, 34242

-3x 9] HY-FLFE G(x), HaFHS

L(x)=t &, G(2) + L(2) o] #t= F5FH?

@D 1 ® 11

® 21 @ 31 ® 41

|



13.



14. (a+b)(b+c)(c+a)+ abcE A5l SHH?

® (a+ b)(ab + bc + ca) @ (b+ c)(ab + bc + ca)
® (a+b)(a+b+c) @ (a+b+c)(ab+ bc+ ca)

® (b+c)a+b+c)



10] a, b, ¢ Aol a3 + a®b — ac® + ab® + b3 -

el

bc* = 01 A7}

8o
-



16. (& +x)(x* +x+ 1) = 62 AFolfoba?

O x-1x+2)x*+x+3) @ (x-1(x+2)(x*+x-3)
@ x=-2)x+1)(*+x+3) @ (x-1)(x+2)(x*-x+3)

® x+1D)x-2)(x2-x+3)



® (ab-a+b-1)(ab—a-b-1)
@ (ab-a+b+1)(ab-a-b+1)
® (ab+a-b+1)(ab-a+b-1)
@ (ab+a+b-1)(ab-a-b-1)

® (ab+a+b+1)(ab+a-b-1)



18.  (x24+5x+4)(x?+5x42)-24F AFEHNoHA (x2+ax+b)(x*+cx+d)
A a+b+c+dE TFoHA?

@D 16 @ -16 3 15 @ 18 3 0



19. oA Xt + x2y? + 25y & Aol SFATIY (x2 + mxy + 5y%) (x? +
nxy +5y%) 7F S Atk o] W g m,n O § m +n &) ghe F-5HH?

D -6 @ -3 3 0 @ 3 ® 6



20. TFA] 262 - xy - )2 —dx + y 4 25 AR

o

A2

O @2x-y-2)(x+y-1) @ 2x+y+2)(x-y+1)
@ 2x-y-2)(x—-y-1) @ (2x+y-2)(x+y-1)
® 2x+y-2)(x-y-1)



